

ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Global CM512 2-Pack		_
CPL 1	1	CE8CP17	17" Mesh Jumper	\$ 120.00	\$120.00
2	1	CE8FR1	Skipped Option 72" Long, Reversible Floor Power Entry	\$ 347.00	\$347.00
3	1	CE8RD1	Skipped Option Utility Circuit #1, Duplex Receptacle	\$ 33.00	\$33.00
4	1	CE8RD2	Skipped Option Utility Circuit #2, Duplex Receptacle	\$ 33.00	\$33.00
5	1	CE8RDA	Skipped Option Dedicated Circuit A, Duplex Receptacle	\$ 33.00	\$33.00
6	1	CE8RDB	Skipped Option Dedicated Circuit B, Duplex Receptacle	\$ 33.00	\$33.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Skipped Option		
7	4	CHC15L	15" Left Cantilever, Mounting Bracket Included	\$ 50.00	\$200.00
			STD Standard Paint Finishes		
			Skipped Option		
			Skipped Option		
8	4	CHC15R	15" Right Cantilever, Mounting Bracket Included	\$ 50.00	\$200.00
			STD Standard Paint Finishes		
			Skipped Option		
			Skipped Option		
			Course President Laft and Bight Cold on a Dair		
9	1	CHCB2	Corner Bracket, Left and Right, Sold as a Pair	\$ 22.00	\$22.00
			OTD Other dead Brief Finish or		
			STD Standard Paint Finishes		
			Skipped Option Skipped Option		
10	4	CHFB1	Flat Bracket (Available in Black Only)	\$ 21.00	\$84.00
			Skipped Option		
11	1	CHP66-3	66"h, 3-Way, Universal Corner Post (With All Clips), Post Trims, Post Base Cap	\$ 151.00	\$151.00
			STD Standard Paint Finishes		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Skipped Option		
			Skipped Option		
12	4	CHPBF	Pedestal Bracket/ Filler	\$ 60.00	\$240.00
	-			+ 55.55	V = 10100
			Skipped Option		
			Skipped Option		
10	•	CMETCC	66"h, End of Run Trim Insert for Panel	¢ 27.00	¢94.00
13	3	CMET66		\$ 27.00	\$81.00
			STD Standard Paint Finishes		
			Skipped Option		
			Skipped Option		
4.4		CMFF6636N0	66"h x 36"w, Segmented Fabric Panel, Non-Powered, Racewa	av & 646.66	¢0.470.00
14	4	CWIFF0030NU	Cover No Punch (2)	3 6 19.00	\$2,476.00
			STD Standard Paint Colors		
			Skipped Option		
			Skipped Option		
			Skipped Option		
			Skipped Option		
			Skipped Option		
			Skipped Option		
15	2	CMFF6636P2	66"h x 36"w, Segmented Fabric Panel, Power Harness,	\$ 834.00	\$1,668.00
70	-	O.I.I. 1 00001 2	Raceway Cover with Punch (2)	Ψ 00-1.00	ψ1,000.00
			STD Standard Paint Colors		
			Skipped Option		
			Skipped Option		
			Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Skipped Option		
			Skipped Option Skipped Option		
			Sкipped Option		
16	7	CMRCB01	Cutout Cover for Raceway Cutout Opening	\$ 17.00	\$119.00
			Skipped Option Skipped Option		
17	2	CMSLK13	Lock for 13" Flipper Door	\$ 44.00	\$88.00
			Skipped Option		
			Skipped Option		
18	2	CS1923BBF	23" d, B/B/F Pedestal, Worksurface Supporting	\$ 565.00	\$1,130.00
			Skipped Option		
			Skipped Option		
			Skipped Option		
19	2	CS1923FF	23" d, F/F Pedestal, Worksurface Supporting	\$ 565.00	\$1,130.00
			Skipped Option		
			Skipped Option		
			Skipped Option		
20	2	CSOF1336	14.5"h x 36"w, Overhead Flipper Door Storage	\$ 432.00	\$864.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Skipped Option		
			Skipped Option		
21	2	CSSL1336	13"d x 36"w, Low Profile Shelf	\$ 163.00	\$326.00
			Skipped Option Skipped Option		
22	2	CWCC3624P	36"w x 24"d, Curved Corner Worksurface with 3mm PVC Edge Trim 1" Thick	\$ 511.00	\$1,022.00
			LP Thermally Fused Laminates 1" Thickness Skipped Option		
			Skipped Option		
			Skipped Option		
			Skipped Option		
23	4	CWS2436P	36"w x 24"d, Rectangular Worksurface with 3mm PVC Edge Trim 1" Thick, Std with 1 Scoop	\$ 167.00	\$668.00
			LP Thermally Fused Laminates 1" Thickness		
			Skipped Option		
			Skipped Option		
			Skipped Option		
			Skipped Option		

ALIAS SUBTOTAL: \$ 11,068.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
CPL			Global CM512 4-Pack		
24	3	CE8CP17	17" Mesh Jumper	\$ 120.00	\$360.00
			Skipped Option		
25	1	CE8FR1	72" Long, Reversible Floor Power Entry	\$ 347.00	\$347.00
			Skipped Option		
26	2	CE8RD1	Utility Circuit #1, Duplex Receptacle	\$ 33.00	\$66.00
			Skipped Option		
27	2	CE8RD2	Utility Circuit #2, Duplex Receptacle	\$ 33.00	\$66.00
			Skipped Option		
28	2	CE8RDA	Dedicated Circuit A, Duplex Receptacle	\$ 33.00	\$66.00
			Skipped Option		
29	2	CE8RDB	Dedicated Circuit B, Duplex Receptacle	\$ 33.00	\$66.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Skipped Option		
30	8	CHC15L	15" Left Cantilever, Mounting Bracket Included	\$ 50.00	\$400.00
31	8	CHC15R	STD Standard Paint Finishes Skipped Option Skipped Option 15" Right Cantilever, Mounting Bracket Included	\$ 50.00	\$400.00
32	2	CHCB2	STD Standard Paint Finishes Skipped Option Skipped Option Corner Bracket, Left and Right, Sold as a Pair	\$ 22.00	\$44.00
33	8	CHFB1	STD Standard Paint Finishes Skipped Option Skipped Option Flat Bracket (Available in Black Only)	\$ 21.00	\$168.00
33	0	CHEBI		φ 21.00	\$160.00
34	1	CHP66-3	Skipped Option 66"h, 3-Way, Universal Corner Post (With All Clips), Post	\$ 151.00	\$151.00
			Trims, Post Base Cap STD Standard Paint Finishes		



ITEM	QTY.	PRODUCT CODE			LIST	EXTENDED
				Skipped Option		
				Skipped Option		
35	1	CHP66-4		ay, Universal Corner Post (With All Clips), No Post Post Base Cap	\$ 126.00	\$126.00
			STD	Standard Paint Finishes		
				Skipped Option		
				Skipped Option		
				Chipped Opinion		
36	8	CHPBF	Pedestal	Bracket/ Filler	\$ 60.00	\$480.00
				Skipped Option		
				Skipped Option		
07	_		66"h. End	of Run Trim Insert for Panel		440= 00
37	5	CMET66	00 11, E110	To that this insertion talled	\$ 27.00	\$135.00
			STD	Standard Paint Finishes		
				Skipped Option		
				Skipped Option		
38	8	CMFF6636N0	66"h x 36 Cover No	"w, Segmented Fabric Panel, Non-Powered, Racewa Punch (2)	^y \$ 619.00	\$4,952.00
			00101110	Tunon (2)		
			STD	Standard Paint Colors		
				Skipped Option		
			•••	Skipped Option		
				Skipped Option		
				Skipped Option		
				Skipped Option		
				Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
39	4	CMFF6636P2	66"h x 36"w, Segmented Fabric Panel, Power Harness, Raceway Cover with Punch (2)	\$ 834.00	\$3,336.00
			OTD Object of British Online		
			STD Standard Paint Colors Skipped Option		
			Object of Outlier		
			China ad Continu		
			Object of Outlier		
			China ad Continu		
			Object of Outlier		
			Sкірреа Ортіоп		
40	15	CMRCB01	Cutout Cover for Raceway Cutout Opening	\$ 17.00	\$255.00
40	13	CWINCEDOT		φ 17.00	Ψ233.00
			Skinned Ontion		
			Skipped Option		
			Skipped Option		
11	4	CMCI I/42	Lock for 13" Flipper Door	¢ 44.00	¢476.00
41	4	CMSLK13		\$ 44.00	\$176.00
			Skipped Option		
			Skipped Option		
			23" d, B/B/F Pedestal, Worksurface Supporting		
42	4	CS1923BBF	20 a, 2/2/1 i odobial, Workbaridoo bapporting	\$ 565.00	\$2,260.00
			Skipped Option		
			Skipped Option		
			Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
43	4	CS1923FF	23" d, F/F Pedestal, Worksurface Supporting	\$ 565.00	\$2,260.00
			Skipped Option		
			Skipped Option		
			Skipped Option		
44	4	CSOF1336	14.5"h x 36"w, Overhead Flipper Door Storage	\$ 432.00	\$1,728.00
			Skipped Option		
			Skipped Option		
45	4	CSSL1336	13"d x 36"w, Low Profile Shelf	\$ 163.00	\$652.00
40	7	C33E1330		φ 105.00	ψ032.00
			China ad Ontion		
			Skipped Option Skipped Option		
46	4	CWCC3624P	36"w x 24"d, Curved Corner Worksurface with 3mm PVC Edge Trim 1" Thick	\$ 511.00	\$2,044.00
			LP Thermally Fused Laminates 1" Thickness		
			Skipped Option		
			Skipped Option		
			Skipped Option		
			Skipped Option		
47	8	CWS2436P	36"w x 24"d, Rectangular Worksurface with 3mm PVC Edge Trim 1" Thick, Std with 1 Scoop	\$ 167.00	\$1,336.00
			LP Thermally Fused Laminates 1" Thickness		



ITEM QTY.	PRODUCT CODE		LIST	EXTENDED
'		 Skipped Option		
		 Skipped Option		
		 Skipped Option		
		 Skipped Option		

ALIAS SUBTOTAL: \$ 21,874.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
CPL			Global CM512 6-Pack		
48	5	CE8CP17	17" Mesh Jumper	\$ 120.00	\$600.00
			Skipped Option		
49	1	CE8FR1	72" Long, Reversible Floor Power Entry	\$ 347.00	\$347.00
			Skipped Option		
50	3	CE8RD1	Utility Circuit #1, Duplex Receptacle	\$ 33.00	\$99.00
			Skipped Option		
51	3	CE8RD2	Utility Circuit #2, Duplex Receptacle	\$ 33.00	\$99.00
			Skipped Option		
52	3	CE8RDA	Dedicated Circuit A, Duplex Receptacle	\$ 33.00	\$99.00
			Skipped Option		
53	3	CE8RDB	Dedicated Circuit B, Duplex Receptacle	\$ 33.00	\$99.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Skipped Option		
54	12	CHC15L	15" Left Cantilever, Mounting Bracket Included	\$ 50.00	\$600.00
			STD Standard Paint Finishes Skipped Option Skipped Option		
55	12	CHC15R	15" Right Cantilever, Mounting Bracket Included	\$ 50.00	\$600.00
56	3	CHCB2	STD Standard Paint Finishes Skipped Option Skipped Option Corner Bracket, Left and Right, Sold as a Pair	\$ 22.00	\$66.00
			STD Standard Paint Finishes Skipped Option Skipped Option		
57	12	CHFB1	Flat Bracket (Available in Black Only)	\$ 21.00	\$252.00
58	1	CHP66-3	Skipped Option 66"h, 3-Way, Universal Corner Post (With All Clips), Post Trims, Post Base Cap	\$ 151.00	\$151.00
			STD Standard Paint Finishes		



ITEM	QTY.	PRODUCT CODE			LIST	EXTENDED
				Skipped Option		
				Skipped Option		
59	2	CHP66-4		ay, Universal Corner Post (With All Clips), No Post Post Base Cap	\$ 126.00	\$252.00
			STD	Standard Paint Finishes		
				Skipped Option		
				Skipped Option		
				omprou opasi.		
60	12	CHPBF	Pedestal	Bracket/ Filler	\$ 60.00	\$720.00
					·	·
				Skipped Option		
				Skipped Option		
			66"h End	of Run Trim Insert for Panel		
61	7	CMET66	00 II, LIIU	TO IXIII IIII IIISER IOI FAIIEI	\$ 27.00	\$189.00
			STD	Standard Paint Finishes		
				Skipped Option		
				Skipped Option		
62	12	CMFF6636N0	66"h x 36	"w, Segmented Fabric Panel, Non-Powered, Racewa Punch (2)	^y \$ 619.00	\$7,428.00
			COVEI NO	runch (2)		
			STD	Standard Paint Colors		
				Skipped Option		
			•••	Skipped Option		
				Skipped Option		
				Skipped Option		
				Skipped Option		
				Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
63	6	CMFF6636P2	66"h x 36"w, Segmented Fabric Panel, Power Harness, Raceway Cover with Punch (2)	\$ 834.00	\$5,004.00
			STD Standard Paint Colors		
			Skipped Option		
			Skipped Option		
			Skipped Option		
			Skipped Option		
			Skipped Option		
			Skipped Option		
64	23	CMRCB01	Cutout Cover for Raceway Cutout Opening	\$ 17.00	\$391.00
			Skipped Option		
			Skipped Option		
65	6	CMSLK13	Lock for 13" Flipper Door	\$ 44.00	\$264.00
			Skipped Option		
			Skipped Option		
66	6	CS1923BBF	23" d, B/B/F Pedestal, Worksurface Supporting	\$ 565.00	\$3,390.00
			Skipped Option		
			Skipped Option		
			Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
67	6	CS1923FF	23" d, F/F Pedestal, Worksurface Supporting	\$ 565.00	\$3,390.00
			Skipped Option		
			Skipped Option		
			Skipped Option		
68	6	CSOF1336	14.5"h x 36"w, Overhead Flipper Door Storage	\$ 432.00	\$2,592.00
			Skipped Option		
			Skipped Option		
69	6	CSSL1336	13"d x 36"w, Low Profile Shelf	\$ 163.00	\$978.00
			Skipped Option		
			Skipped Option		
			OCILIA DA CARRA CA		
70	6	CWCC3624P	36"w x 24"d, Curved Corner Worksurface with 3mm PVC Edge Trim 1" Thick	\$ 511.00	\$3,066.00
			LP Thermally Fused Laminates 1" Thickness		
			Skipped Option		
			Skipped Option		
			Skipped Option		
			Skipped Option		
71	12	CWS2436P	36"w x 24"d, Rectangular Worksurface with 3mm PVC Edge Trim 1" Thick, Std with 1 Scoop	\$ 167.00	\$2,004.00
			LP Thermally Fused Laminates 1" Thickness		
			·		



ITEM QTY.	PRODUCT CODE		LIST	EXTENDED
'		 Skipped Option		
		 Skipped Option		
		 Skipped Option		
		 Skipped Option		

ALIAS SUBTOTAL: \$ 32,680.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
CPL			Global CM512 8-Pack		
72	7	CE8CP17	17" Mesh Jumper	\$ 120.00	\$840.00
			Skipped Option		
73	1	CE8FR1	72" Long, Reversible Floor Power Entry	\$ 347.00	\$347.00
			Skipped Option		
74	4	CE8RD1	Utility Circuit #1, Duplex Receptacle	\$ 33.00	\$132.00
			Skipped Option		
75	4	CE8RD2	Utility Circuit #2, Duplex Receptacle	\$ 33.00	\$132.00
			Skipped Option		
76	4	CE8RDA	Dedicated Circuit A, Duplex Receptacle	\$ 33.00	\$132.00
			Skipped Option		
77	4	CE8RDB	Dedicated Circuit B, Duplex Receptacle	\$ 33.00	\$132.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Skipped Option		
78	16	CHC15L	15" Left Cantilever, Mounting Bracket Included	\$ 50.00	\$800.00
79	16	CHC15R	STD Standard Paint Finishes Skipped Option Skipped Option 15" Right Cantilever, Mounting Bracket Included	\$ 50.00	\$800.00
80	4	CHCB2	STD Standard Paint Finishes Skipped Option Skipped Option Corner Bracket, Left and Right, Sold as a Pair	\$ 22.00	\$88.00
81	16	CHFB1	STD Standard Paint Finishes Skipped Option Skipped Option Flat Bracket (Available in Black Only)	\$ 21.00	\$336.00
82	1	CHP66-3	Skipped Option 66"h, 3-Way, Universal Corner Post (With All Clips), Post Trims, Post Base Cap	\$ 151.00	\$151.00
			STD Standard Paint Finishes		



ITEM	QTY.	PRODUCT CODE			LIST	EXTENDED
				Skipped Option		
			•••	Skipped Option		
83	3	CHP66-4		ay, Universal Corner Post (With All Clips), No Post Post Base Cap	\$ 126.00	\$378.00
			STD	Standard Paint Finishes		
				Skipped Option		
				Skipped Option		
				onppou opasi.		
84	16	CHPBF	Pedestal	Bracket/ Filler	\$ 60.00	\$960.00
					·	·
				Skipped Option		
				Skipped Option		
0.5	_		66"h. End	of Run Trim Insert for Panel		****
85	9	CMET66	JU 11, 2110		\$ 27.00	\$243.00
			STD	Standard Paint Finishes		
				Skipped Option		
				Skipped Option		
86	16	CMFF6636N0	66"h x 36 Cover No	"w, Segmented Fabric Panel, Non-Powered, Racewa Punch (2)	^y \$ 619.00	\$9,904.00
			30101110	- Linear (2)		
			STD	Standard Paint Colors		
				Skipped Option		
				Skipped Option		
				Skipped Option		
			***	Skipped Option		
				Skipped Option		
				Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
87	8	CMFF6636P2	66"h x 36"w, Segmented Fabric Panel, Power Harness, Raceway Cover with Punch (2)	\$ 834.00	\$6,672.00
			STD Standard Paint Colors		
			Skipped Option		
			Skipped Option		
			Skipped Option		
			Skipped Option		
			Skipped Option		
			Skipped Option		
88	31	CMRCB01	Cutout Cover for Raceway Cutout Opening	\$ 17.00	\$527.00
			Skipped Option		
			Skipped Option		
89	8	CMSLK13	Lock for 13" Flipper Door	\$ 44.00	\$352.00
			Skipped Option		
			Skipped Option		
90	8	CS1923BBF	23" d, B/B/F Pedestal, Worksurface Supporting	\$ 565.00	\$4,520.00
				·	. ,
			Skipped Option		
			Skipped Option		
			Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
91	8	CS1923FF	23" d, F/F Pedestal, Worksurface Supporting	\$ 565.00	\$4,520.00
			Skipped Option		
			Skipped Option		
			Skipped Option		
92	8	CSOF1336	14.5"h x 36"w, Overhead Flipper Door Storage	\$ 432.00	\$3,456.00
			Skipped Option		
			Skipped Option		
93	8	CSSL1336	13"d x 36"w, Low Profile Shelf	\$ 163.00	\$1,304.00
93	0	COSE 1990		ψ 103.00	φ1,304.00
			0.10.1		
			Skipped Option Skipped Option		
94	8	CWCC3624P	36"w x 24"d, Curved Corner Worksurface with 3mm PVC Edge Trim 1" Thick	\$ 511.00	\$4,088.00
			LP Thermally Fused Laminates 1" Thickness		
			Skipped Option		
			Skipped Option		
			Skipped Option		
			Skipped Option		
95	16	CWS2436P	36"w x 24"d, Rectangular Worksurface with 3mm PVC Edge Trim 1" Thick, Std with 1 Scoop	\$ 167.00	\$2,672.00
			LP Thermally Fused Laminates 1" Thickness		



ITEM	QTY.	PRODUCT CODE				LIST	EXTENDED
				Skipped Option			
				Skipped Option			
				Skipped Option			
				Skipped Option			
	ALIAS SUBTOTAL: \$ 43,486.00						
					TOTAL EXTENDED LIST:		\$109,108.00